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narjmWu àíZ-nÌ H$moS> H$mo CÎma-nwpñVH$m Ho$ 
_wI-n¥ð >na Adí` {bIo§ & 
Candidates must write the Q.P. Code on 
the title page of the answer-book. 

 Series %BAB%/C  àíZ-nÌ H$moS>       
 Q.P. Code  

amob Z§. 
Roll No. 
   
 
 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 7 h¢ & 
 àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE àíZ-nÌ H$moS H$mo narjmWu CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na 
{bI| & 

 H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >14 àíZ h¢ &  
 H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, CÎma-nwpñVH$m _| àíZ H$m H«$_m§H$ Adí` 

{bI| & 
 Bg  àíZ-nÌ  15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-

10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

 Please check that this question paper contains 7 printed pages. 
 Q.P. Code given on the right hand side of the question paper should be written 

on the title page of the answer-book by the candidate. 
 Please check that this question paper contains 14 questions. 
 Please write down the serial number of the question in the  

answer-book before attempting it. 
 15 minute time has been allotted to read this question paper. The question 

paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 
students will read the question paper only and will not write any answer on 
the answer-book during this period. 
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: 

(i) 14  

(ii)  

(iii)   1 2 1 

10  15  

(iv)   3 9 2 

30  

(v)   10 12 4 

80  

(vi)   13 14, 6 

200  

IÊS>> H$ 

1. òmoV : 

 gZ² 1834 go boH$a 1920 VH$, ^maV Ho$ AZoH$m| ~§XaJmhm| go {Z`{_V ê$n go OhmµO OmVo  
Wo & CZ OhmµOm| _| {d{^Þ Y_m], qbJ, dJm] d Om{V`m| Ho$ ^maVr` bmoJ hmoVo Wo {OÝh|  
H$_-go-H$_ nm±M gmb Ho$ {bE _m°areg Ho$ ~mµJmZm| _| _µOXÿar H$aZo Ho$ {bE nhþ±Mm`m OmVm 
Wm & BgHo$ {b
J`m, Amam, gmaU, {VahþV, M§nmaU, _w§Joa, ^mJbnwa Am¡a ny{U©`m {Obm| _| go hmoVm Wm & 
                                                                    (nmBZrAmo 1984)  

 bmoJm| H$mo bo ? 1 

2. : 
 BgH$m n[aUm_ `h hþAm {H$ _¢ AnZr Om{V H$mo ŷbZo H$s nyar H$mo{ee H$aVr hÿ±, bo{H$Z ò 

m h¡ Omo _¢Zo H$ht gwZm Wm : Omo OÝ_ 

go {_bm hmo, Am¡a Omo _aZo Ho$ ~mX ^r Zï> Z hmo  dmo Om{V h¡ &            

 Om{V H$s n[a^mfm Xr{OE &  1 
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General Instructions : 

(i) This question paper contains 14 questions. 

(ii) All questions are compulsory. 

(iii) Section A  Questions number 1 and 2 are 1 mark source-based 
questions. Answers to these questions must not exceed 10  15 words.  

(iv) Section B  Questions number 3 to 9 are 2 marks questions. These are 
very short-answer type questions. Answers to these questions should not 
exceed 30 words.  

(v) Section C  Questions number 10 to 12 are 4 marks questions. These are 
short-answer type questions. Answers to these questions should not exceed 
80 words.  

(vi) Section D  Questions number 13 and 14 are 6 marks questions. These 
are long-answer type questions. Answers to these questions should not 
exceed 200 words.  

SECTION A  

1. Read the source and answer the question :  

 After 1834 till 1920, ships left from the ports of India on a regular basis 
carrying people of various religions, gender, classes and castes destined 
to work for a minimum of five years on one of the plantations in 
Mauritius. For many decades the recruiting ground was centred in Bihar, 
in particular, in districts such as Patna, Gaya, Arrah, Saran, Tirhut, 
Champaran, Monghyr, Bhagalpur and Purnea.                        (Pineo 1984) 

 Why did ships carrying people leave the ports of India on a regular  
basis ?  1 

2. Read the source and answer the question : 

 The result is that although I try to forget my caste, it is impossible to 
forget. And then I remember an ex hat 

   
                                                                                                        (Kumud Pawade) 
 Define caste.   1 
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IÊS>> I 

3. CÎmar ^maV Ho$ H$B© ^mJm| _| A^r ^r ~oJma Am¡a _wâV _µOXÿar O¡go nÕ{V`m± àMbZ _| h¢ & 

Jm±d Ho$ µO_tXma `m ŷ-ñdm_r Ho$ `hm± {ZåZ Om{V g_yh Ho$ gXñ` df© _| Hw$N> {ZpíMV {XZm| 

VH$ _µOXÿar H$aVo h¢ &  

 Bgr Vah, g§gmYZm| H$s H$_r Am¡a ŷ-ñdm{_`m| H$s Am{W©H$, gm_m{OH$ Am¡a amOZr{VH$ 

ghm`Vm boZo Ho$ {bE ~hþV go µJ >`m| go CZHo$ `hm± ~±YwAm _µOXÿa H$s Vah 

H$m_ H$a aho h¢ & 

 jV Wm ? 2 

4. gwYmadmXr VWm à{VXmZmË_H$ gm_m{OH$ Am§XmobZ Ho$ ~rM H$m A§Va ñnï> H$s{OE &   2 

5. gm_m{OH$ Am§XmobZ H$s  2 

6. {dg§ñH¥${VH$aU H$s g§H$ënZm {H$gHo$ Ûmam Xr JB© ? {dg§ñH¥${VH$aU H$s n[a^mfm Xr{OE & 1+1 

7. AZ

Cn{ZdoedmX A~ ^r h_mao OrdZ H$m EH$ {hñgm {H$g àH$ma h¡ & 2 

8. (H$) h_ H¡$go H$h gH$Vo h¢ {H$ ~mµJmZm| Ho$ _m{bH$ H$s OrdZ-e¡br {dbmgr Wr ? {H$Ýht 

Xmo {~ÝXþAm| H$m CëboI H$s{OE &  2 

AWdm 

 (I) Ag_ Ho$ Mm` ~mµJmZm| Ho$ _µOXÿam| H$s H$m_ H$aZo H$s pñW{V go ~mµJmZ _m{bH$m| H$mo 

bm^ hþAm & H¡$go ? H$moB© Xmo {~ÝXþ Xr{OE & 2 

9. 19

{OZHo$ {bE CÝhm|Zo g§Kf© {H$`m &  2 
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SECTION B 

3. Until recently practices such as begar or free labour were prevalent in 
many parts of Northern India. Members of low ranked caste groups had 
to provide labour for a fixed number of days per year to the village 
zamindar or landlord.  

 Similarly lack of resources and dependence on the landed class for 
economic, social and political support, meant that many of the working 
poor were tied to landowners in hereditary labour relationships (bonded 
labour).   

 What was expected of the free labour in the hereditary labour  
relationships ? 2 

4. Differentiate between reformist and redemptive social movement.     2 

5. Mention any two features of a social movement.   2 

6. Who gave the concept of the De-Sanskritisation ? Define  
De-Sanskritisation.  1+1 

7. Mention any two of the many and complex ways by which British 
colonialism lives on in contemporary India.  2 

8. (a) How can we say that the lifestyle of the planters was luxurious ? 
State any two points.   2 

OR 

 (b) The working conditions of the labourers of the tea plantations of 
Assam benefited the planters. How ? Give any two points.  2 

9. Mention any two social reformers of the 19th century and the social 
issues that they fought for.  2 
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IÊS>> J 

10. ñdV§ÌVm Ho$ ~mX J«m_rU g_mO _| Omo n[adV©Z hþE, CZH$  4 

11. (H$) AmB©.Q>r. joÌ _| H$m_ H$aZo dmbo H$_©Mm[a`m| H$s H$m_ H$aZo H$s pñW{V`m| na àH$me 
S>m{bE & 4 

AWdm 

 (I)  H$mo`bm IXmZm| _| H$m_ H$aZo dmbo _µOXÿam| H$s H$m_ H$aZo H$s pñW{V`m± {H$g àH$ma 
H$s h¢ ? g_PmBE & 4 

12. h[aV H«$m§{V Ho$ H$moB© Mma gm_m{OH$ n[aUm_ ~VmBE &   4 

 
IÊS>> K 

13. (H$) ? `h {H$g Vah go {dídì`mnr àd¥{Îm`m| Ho$ gmW {\$Q> 
~¡R>Vm h¡ ? 2+4 

AWdm 

 (I) bmoJ H$m_ {H$g Vah nmVo h¢ ? 
VWm ~VmBE {H$ BZ amoµOJma Adgam| H$s gw{dYm ^maV gaH$ma {H$g Vah àXmZ H$aVr 
h¡ & 2+4 

14. Xmo àH$ma Ho$ dJ©- ©-AmYm[aV 
Am§XmobZ H$s ì`m»`m H$s{OE &  2+4 
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SECTION C 

10. Mention the transformations that took place in rural society  
post-independence.  4 

11. (a) Highlight the working conditions of the employees working in IT 
sector.   4 

OR 

 (b) Explain the working conditions of labourers working in coal mines. 4 

12. Give any four social consequences of Green Revolution.   4 

SECTION D 

13. (a) What is meant by disinvestment ? How does it fit in with worldwide 
trends ?   2+4 

OR 

 (b) How do people find jobs ? Mention two components of employment 
opportunities and the ways by which the Government of India 
facilitates these employment opportunities.  2+4 

14. Mention two types of class-based movements. Explain any one type of 
class-based movement.  2+4 

 

 

 


